HERZR =227 6%

=3 AF o2 8 (1)

ST 3 oprh BopyFEIo Y



SE3fopTy 3 pYFE B3



A% g4

>

27 = M(socket options)

— |
> A%O| 7|2 SEE W
2 AER TZREF Fol A0 it MEHS Mo 7ts

A% SN B B

#include <sys/types.h>
#include <sys/socket.h>

int setsockopt(int s, int level, int opt, const char *optval, int optlen);
int getsockopt(int s, int level, int opt, const char *optval, int *len);

> s AFHS

> level : TIZEZ gl
SOL_SOCKET: A Z10| QHI™MO| @M HZA
IPPROTO_IP: IP T2 EZ0f &tst M HY
IPPROTO_TCP: TCPOj| &3t &M A

> opt: AFRBIIX} SHs SN

» optval : M X|Z0| ot gtol EolH

» optlen : optvale| 37|
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Socket Option Layer

level
» SOL SOCKET
Z2ES0 2o A2 O Ky
» PPROTO _TCP
TCPO|| 2=l M
» PPROTO _IP

IPO-” _|_|- E=| = %A
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SOL_SOCKET

Option name
» SO_BROADCAST: Ht£3] HA|X| X% &8
» SO_DEBUG: DEBUG 2 E & MEH
» SO_REUSEADDR: =4 KA ME
» SO_LINGER

275 B= 0 O89S E HOoIH7E [0 = X §e AZTSE
JICHREE 225 S

» SO_KEEPALIVE: TCP2| keep-alive &2 MEH

» SO_OOBINLINE: OOB H|O|E & 2Hl {o|HKNEH 2
» SO_RCVBUF: =AIHIHO| 37| HE

» SO SNDBUF: &AIHIHO| 37| HA
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A7 M 0|
Socket LH & buffer EHZA (1)

TCP UDP= St 4 HIH S 7ty

> TCPO| B2 write() @F A| HO|HE 4! HIZE SA
> HlOJE 7l SUHTHO| 257 AL H *IAE“OI HOIHE d&
» A& OOlH= wXlotd QL7 ACKE =i = 4K

> SAUHIIL 7S A3 write)= =5 &

- = T O

» S/ EE AT MEAE XS = US

SO_SNDBUF
> A BITHO| 27| 2ol U K|
SO_RCVBUF

> 4 BEo| 27| ol U XY
T HIHe 37| X YE
> Q17497 (3-way handshake) $ 0= T 27| ®HO| 27}

ME{O| AL listen() = O|M0| MH
EEI0|AHEQ| AL connect() == 0| AH
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A7 M of |
Socket LHE buffer EHZA (2)

int optval;
int optlen = sizeof (optval);
if (getsockopt (listen sock, SOL_SOCKET, SO _RCVBUF,

(char *) &optval, &optlen) == SOCKET ERROR)

err quit ("getsockopt()");

printf ("4 HE 37| =

o\°

HIO|[E\n", optval);

optval = 2;
i1f (setsockopt (listen sock, SOL SOCKET, SO RCVBUF,

(char *) &optval, sizeof (optval)) == SOCKET ERROR)
err quit ("setsockopt()");
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SO_REUSEADDR M (1)
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270 M oA
SO_REUSEADDR M (2)

serv_sock=socket (PF INET, SOCK STREAM, O0);
optlen = sizeof (option);

option = TRUE; // #define TRUE 1

setsockopt (serv_sock, SOL SOCKET, SO REUSEADDR,

&option, sizeof (option));
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IPPROTO_IP

IP_ TTL

» Time To Live HZ4
IP_ MULTICAST _TTL

» HE|FHAE G{|O|E12Ho| TTL HA
IP ADD MEMBERSHIP

» HE[FIAE 50 7HY
IP DROP_MEMBERSHIP

» HEFHAE 50 AM HE
IP_MULTICAST_LOOP

» HE|FHAE [|O|E 12 9| loopback 5|8 &
IP_ MULTICAST _IF

» HE[FHAE OO ME&& QL o[A X|F
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TC

>

TC

TCP2| MSSS(X|CH HA|X| 5

IPPROTO_TCP
TCP_KEEPALIVE

» keep-alive =0l HA|X] & AlZF X| ™

P_MAXSEG

7)) X8

°_NODELAY
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